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ITEMS, ETC. IF SO, GET IT REPLACED BY A
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mark on the OMR Answer Sheet. In case you feel that
there is more than one correct response, mark the
response which you consider the best. In any case,
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on the OMR Answer Sheet and the examination has
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copy of OMR Answer Sheet.
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Which of following statements are true?

1. Haryana was the first state i
© itself.
g. ii‘{aryana is the sole holder of the country’s rock salt resources.
Mera F”am Men_\flrasat” scheme of Haryana aims to shift farmer’s focus from growine w

consuming crop like paddy to other less water requiring crops. X ¥

4. Under “Mahara Gaon=Jagmag Gaon”, more than 5000 villages in Haryana have been provided with
24 hour power supply.

(A) 1, 2fand'3"only “(B) (2,3 and 4only (C) 1,3 and 4only (D) I, 2 and 4 only

Reserve Bank of India raised the repo rate by 40 basis points in May 2022. Now consider the following
statements:

Repo rates are increased to control inflation.

With increase in repo rates, cost of borrowing money increases.

With reduction in repo rates, Industry gets loans at higher rates from the lender.

To deecrease money supply in the economy, the RBI hikes up repo rates to encourage banks for
borrowing funds.

Select the correct statements using the code given below :

(A) 1 and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

Consider the following from Haryana's Budget 2022-23.
1. Revenue deficit has been brought within the limits prescribed by 15t Finance Commission under
the FRBM Act
2. Fiscal deficit has been projected at 2.98 per cent of GSDP in BE of 2022-23.
3 Debt to GSDP ratio is below 25 per cent for Fiscal Year 2021-22 RE.
4. 47 existing budgetary demands for grants have been consolidated into 29 budgetary demanc
grants.
Which of the above statements are correct ? |
(A) 1 and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

Ayushman Bharat Pradhan Mantri Jan Aarogya Yojna(AB-PMIJAY) provides accessible and ath}‘n“ e

health care to the common man in the country. Which of the following are correct about the s¢ m}a&

1. AB-PMJAY provides a cover upto Rs. three lakhs per family per year, fpr secondary and tertiary

; care hospitalization across the public and private empaneled hospitals in the country.

2. It provides cashless and paper less access to services for the beneficiary at the point 0
3: Pre existing conditions are covered from day 0111e‘ "

fits of the scheme are not portable across the country. :

(t:) llae:rlled I2 only (B 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

5}!:}1'.‘“|.| 5
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latch List -] with List - i : ENGLESH ERSION
List - ] - |
- L List -
A. Mata nj pached; I l’li:[ il‘l
I 'tar Pradesh

B Sanjhi
C. Phad
(ul')‘ Saura Paintines

Noose the correct p
#A)
(©)

. Gujarat
HI. Odisha
IV. Rajasthan
answer {
A-lL B-I. C-1V, D-Iil
A-IV, B-1l, @1, D-11

rom the options given below :
(B)
(D)

Match List-I: N

List - 1 List - II
A. Shabnam- I.  Wool
B. Mashru [I. Cotton
C. Dhabla ~=H1: Muslin
D. Chintz IM. Cotton and Silk mix

Choose the correct answer from the options given below :
(A) A-IL B-IV. C-1, D-II (B)
(C) A-IV, B-1I, C-1. D-II (D)

Consider the following events in the history of India :

1. * Rise of Pratiharas under King Mihir Bhoja (Bhoja I)
Hstablishment of Pallava power under Mahendravarman

27
3~ Pala dynasty founded by Gopal
4. Establishment of Chola power by Prantaka - 1

What is thelcorreet ehronologicallorder of the above events, starting from the earliest times?

(A) 2-1-4-3 (B) 3-1-4-2 (C) 2-3-1-4
/13‘\ With reference to the Indian Freedom Struggle. consider the following events :-
i 1. Second Round Table Conference 2. Dandi March
3. Rowlatt Act 4. Death of Jatin Das
The correct chronological sequence is (from carliest to recent)
(&) A Srlis By, 3, 4 2.1 (e Al 372 7
10 In the later vedic perimi.. the term "Bali" denoted
(A) Sacrifice (B
(C) Powerful landlords (D) Revenue
i1 " AshtaPada” in ancient India referred to
(A) A marriage ritual
(C) Game of chess (D)
@ Consider the following statements about Yeast :
<~ Yeast are fungi. 2
3~ Yeast reproduce asexually by budding. 4.
5. All Yeasts are dimorphic. 6.
Which of the above are correct ?
(A). LiZadad (B 12,3, 6 (C)di3;
OR22-1 B | Page -5

).

A-IL, B-11, C-1, D-IV
A-L. B-1V, C-II, D-III

Name of the Variety Units with List - If: Textile

A-1V, B-II, C-11, D-I
A-IIL B-1V, C-11, D-I

(B¥~ An Asura with eight legs
Cavalry unit comprising of eight horses

Yeast can form pseudomycelium.
Yeasts are facultative anaerobes.
All Yeasts are pathogenic.

2
Lh
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Match Ligt - I and List- g

List - 1
S i
- lolkappi 'ons
C. Vall::‘ll;plyam : 'Measure of land
D. Ma and Velj 4. Roman Factory'

Select the correct an Tamil grammar

L ) =

swer using the ¢

AA) A3, B4, C-1.D ode given below :
2 a =l -2 b Y N ]
(C) A-1,B3,C2 D4 (B) A-3, B-1, C-2, D4

(D) A-2, B-1, C-4, D-3
Cf_Jl‘lSIder the following varieties of Mangoes found in India:

1. Chausa - West Bengal ii. Totapuri - Madhya Pradesh

Wl o Kesar - Gujarat iv. Alphonso - Maharashtra
hich of the above is correctly matched?

(A) i and ii only (B) iiandiiionly (C) iand iv only (D) i and iv oply

Given below are two statements:
Statement -1

Rajendra-I Chola introduced Maligai-Kol, a standardized measuring unit,
Statement - II

Rajendra-I Chola's son Arumolivarman built the famous Brihadeshwara Temple

In the light of the above statements, choose the most appropriate answer from the options given bejow
(A) Both Statement - I and Statement - II are correct

(B) Both Statement -1 and Statement - II are incorrect
(C) Statement - I is correct but Statement - II is incorrect
(D) Statement - I is incorrect but Statement - II is correct

Choose the correct hierarchy from the highest to the lowest level in Mughal India
A. Faujdar - Subadar - Amin - Mugqaddam B. Subadar — Amin — Mugaddam - Faujdar
C. Amin — Mugaddam — Subadar - Faujdar D. Subadar — Faujdar — Amin - Muqaddam
Choose the correct answer from the options given below:

(A)/ "A'Only (B) B Only (€~ C Only (@) D Only
Match List - I with List - II '
List-1 List - IT

A. Tipu Shah I. Benaras Rebellion

B. Dudu Mian II. Faraizi Movement

C. Chait Singh III. Tarigah-i-Muhammadiya

D. Titu Mir IV. Pagal Panthi
Choose the correct answer from the options given below:
(A) A4, B-II, C-II, D-IV (B) A-IIL B-1, C-1V, D-II
(C)  A-IV, B-II, C-I, D-III (D) A, B-II, C-I, D-IV

a. Manjusha Art is an art form of Angadesh, present day Bhagalpur.
b. The main colours used in this art form are Pink, Green and Yellow only
Which of the above statement/ statements are correct

(A) Onlya (B) Only b (C) Both aandb (D) Neither a nor b
19 _/ Match List-1 with List - I
' List- 1 List - IT
A. Kilakot I.  Madhubani
B. Kohbar II. Patachitra
C. Thia-badia [I. Sanjhi
D. Morakuti IV. Picchvai
Choose the correct answer from the options given below:
(A) A-II, B-I, C-}Y, D-II (B) A-III, B-I, C-II, D-IV
(C) A-1V, B-I, C-II, D-lII (D) A-II, B-II, C-I, D-IV
OR22-1_B] Page - 7 [P-T-O.
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Statement --Ifouo‘?mg- statements :

- _leen an ultrasound travels from one medium to th
: fr € othe .
Statement - 1 : equency and speed change. " Mediy Ciitg
: e frequency of an ultrasound wave remains almost i Wavelengty,
Statement - 1T~ - Hom one medium to the other medium. Changeq While s
s s The .frequency and speed of an ultrasound wave change v "avelling
Statement medium to the other medium. N ayelling ¢,
Which I% =RV o . Echocardiography’- a technique used in medical ciagnostig om gpe
(A) of the following combination of above statements are true? * SMPIOYS ultrage,
C Stﬁtﬁments =1 and I (B) Stﬂt@&?ﬁﬂts = [ and 111 ind,
(©)  Statements - 11 and IV (D) Statements - 11l and 1V
- . v ¥ = E-:‘F.
gm person is not able to see distant objects clearly. Fons i
St_atement- 1 ¢ The person is suffering from Hypermetfopia. ; )
tatement - I : The defect may have been caused dudto excessive curvature of (he ¢
elongation of the eye ball. L ve lens or

Statement - III  : The defect can be corrected by using a concave lens of suitable power
Stat:ement -IV  : The defect can be corrected by using a convex lens of suitable power '
Which of the following combinations of above statements is correct? '
(A) Statements - I and III (B) Statements - Il and IV

(C) Statements-I and IV (D) Statement - IT and III

Which of the following provisions require(s) ratification fromot less than one-half of the states for an
amendment to the Constitution? o

A. Any of the lists in the Seventh Schedule B. Arti¢le 54, Article 55 and Article 73

C. Chapter VII D. Chapter I of part IX
Choose the right code iw

(A) AandB t{:?;é.f(s)mﬁjgnd C ©) C:mﬁ;l) (@) D and A

icle bars the courts from interfering in disputes arising out of certain treaties
e

. and a e by the Princely States before the commencement of the Constitution?
(A) S FlhnailicBa63 | (C) wArnicle 366, S (D) Article 368
" 24 In which Part and Chapter of the Constitution was the Right to Property inserted after being removed
from Part 1I?
(A) Part X1, Chapter III (B) Part XII, Chapter IV
_ | (C) Part ter [ (D) Part X%, Chapter [
il 25 IR Coelho 007) of the Supreme Court deals with
3 C(A)  Au gions Wl W (B) Basi -'étructure of the Constitution
b s : (D) Non qf the above
x Match thé%éﬂfd&l“é@ lle listed in Column - 'A’ with their funetion in Column - 'B' and select the correct
‘Bptlon. Leh
e o Column=A: o Column - B
- i.  Golgi body A. Digestion
- ii. Smooth endoplasmic reticulum B. Formation of lysosome
Ribosome C. Protein Synthesis
1 me = D. Lipid Synthesis
§ B, iii-C, iv-D ' (B) i-B, 46D, iii-A, iv-C
B hic A (D) i-D,HC, iii-A, iv-B

F the following group of diseases comprises 'genetié“'diseases?
Al . ancer ' [
Hemophilia; Hepatitis B, Colour blindness L)
Sickle cell anemia, Hemophilia, Down syndrome

._[!! ; GRZZ'I_B] - - 'Page-;..g ‘ [ P.T-O-
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Given below are two statements: j
Statement - 1

Chandrayaan-2 was launched on July 22, 2019, f

- & 1 0 )
Geqsynchronous Satellite Launch Vehicle Mark IIL. The spa:i -S
orbiter, a lander, and a rover. >

Tihay
‘ . - aft COnsisteq 01.' :
In the li - The orbiter will circle the Moon in a polar orbit at a height of 1 :

e light of the above statements, choose the most appropriate answer from the ¢ 1') Pl
Egg Both Statement - I and Statement - II are correct s w

Koty b
Statement - 11 .

! Ven bejan,
Both Statcmept - I and Statement - Il are incorrect -
E([l;)) Statement - I is correct but Statement - II is incorrect

Statement - I is incorrect but Statement - Il is correct

Which of the following is not a preservative? :
(A) Dulcin (B) Potassium metabisulphite
(C) Sodium benzoate (D)  Sorbic acid salts

Given below are two statements: one is labeled as As

sertion (A) and the other is labeled as Req.
Assertion (A)

Biogas contains large amounts of methane which can be used as a fuel imsf:]\it,?ﬁ
purposes. As it releases no smoke or residue, 1t should be considered as a good ang
safe source of energy. "

: Biogas also contains carbon dioxide and the higher content of carbon dioxide
contributes to lower energy of biogas in comparison to natural gas.

In the light of the above statements, choose the most appropriate answer from the options given below:

(A) Both (A) and (R) are correct and (R) is the correct explanation ‘of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

Reason (R)

Before the inception of the five-year plan in India, which of these plans. were in existence?
1. Bharat Plan 2. Sarvodaya Plan
3. Farmer Plan 4. Bombay _F’l.':mb ,
Select the correct answer using the code given below :
(:i)e 1,2 and 3 only " (B) I and 4 only (Cy” 2 and 4 only (D)/ 1,2 and 4 only

Which of the following is (are) true in respect of the electric current used-at your home?

i Microwave Oven and television uses dc current-

ii. Refrigerator and washing machine uses ac current

iii. Air cooler and air conditioner uses ac current

iv. Most of the devices use 220 axgperehcgl_';?nt.— o~

v. Magnitude of current passing through di erent devices is same _ S :
(A) Onl%fni ii and iv  (B) Only ii and 1ii1 (C) Only iii and iv (D) Only ii, iii, 1V and »
Consider the followiﬁ statements :

Statement - I : %“he magnetic field lines emerge from the north pole and merge at the south pole

* of a bar magnet. : Akt e : ;

Statement-1I  : The directio% of magnetic field is taken to be the direction in which the north pole
" of a compass needle moves.
: There is no field inside a bar magnet. ! ‘ B
: The relative strength of the magnetic field is shown by the degree of closeness

Statement - T11
Statement - TV

O the field lines.
Z’Xh“’h of the above statement(s) is/are correct?

(A)  Statements - I, | (B) Statements - I, II, and III
- (C-) Statements -.]: }II"aIrllldaIl{;j 4 (D) Statements - II, 1II and IV
& gg:lsnc_ler the following statements :
Sm:zment- 1 ¢ An electric motor converts electrical energy into n_lechanical energy.
Stateﬁi“:' 1 :  An electric generator converts mechanical energy Into glec;rical energy-
Which 0';. t;\m : Both electric motor and generator work on the same principle.
(A) StatoarooVe statement(s) is/are correct?
© StatementS—I‘I@nd TTESE: ¢ (B) Statements - [ and II1
ents-Tand It (D) Statements - I, Il and III
OR22-1 B
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JITect answer from the given options:
Manganese is an 'Mportant raw material for smelting o
manufacturing ferro alloys.

Manganese deposits are found in almost all geological formyg,

mainly associated with Dharwar system. * NOweye, it is
(A) Statement -1 is True, Statement - I is False ‘
(B) Statement -1 is False, Statement - I is True

(C) Both Statements are True and Statement -
(D) Both Statements are True and Statement -

f ITOn Ore

and 4
Statement - 11 0

Used for

[I provides explanation to Statemen <
II does not provide explanation to S‘alemcm_l

Which of the following statements are correct about Eastern and Western Ghats?
1. Anaimudi is the highest peak in the Eastern ghats. : _
2~ Western Ghats are comparatively lower in elevation and less continuous than Eastery G
37 Most of the Peninsular rivers have their origin in the Westet‘_n g,h_ats_.
4. The Eastern and the Western ghats meet each other at the Nilgiri hills.
Select the correct answer using the code below:

(A) onlyland2  (B) only3and4 (Cy only1,2and3 (D) only2, 3 and4

Which of the following statement/statements are correct about a disaster which struck Uttarakhang’s
Chamoli district in February 20212 y ke B and d havoc
- A portion of the Gangotri glacier broke off and cause e ishi Gang (nan¢
("'?/ Thzre was sudden ﬂofd in the middle of the day in the Dhauli Ganga, Rishi Ganga and Alaknanda

nats,

- ishi j ively damaged.
j t were extensively g
A7 Tapovan-Vishnugad Hydel;ijq((:it a;::dl the Rishi Ganga Hydel Project w
e correct answer using the code below: ot
(SXI)CCtg:ﬁy ok (B) Only l.and 2 (C) Only 2 and 3 (B)/ 1,2 and 3
& g ents and-select the correct answer from the optim}s g_iven:. o
Sk, V;B Stawmglnktlfiz‘ln F}li?:la[ayaé are famous for Karewa formations, which are useful for the
Statement - : : k: .
cultivation of Zafran ; . : ik TR
as thick deposits of glacial clay and other mate
tement - 11 : Kare\'vas are :
g : ~ moraines

(A) Statement -1 is True, Statementt- 1{1 1;;S F"?: 3;

eme i e, Statement - : : e
(B) Statement- I is Palze’Truc and Statement - I provides exp!apat:on to Statement - | s
) ob S.tatcmeﬂ_:S :;e True and Statement - II does not provide explanation to Stateme
(D) Both Statements

Which of the following characteristics are correct about waves
. ind « vel in the ocean.

d causes waves to tra . = gl o
i | motion of water beneath the wave is not CIFLll‘]dr | Cn
. fairly young ones and are probably formed by loca pindsa.
i- The highest afj ;mt at p);ints of a wave are called the crest and trough respectively.
The highest and lowest |

. y o
e e i (€1 3 and 4 B (D)) 1and 4
d 2 _ _

the climatic regions of India according to Koeppen’s scheme.

ST Cotemn I
TR g e o0
1 ?ﬁi;of-c_h;nqte A. Amnachal Pradesh_ 18,
2. Dfc B. West Coast of India south o
3. Amw C. Extreme Western RaJ:}stha'n ’
4. As D. Coromandel coast of Tamil I\;aAu e
() 1-A,2.B, 3¢ 4D e b8P
© 1-¢c 2438 4b (D) 1-A, 2-C, 3-B, s
QR22~1_31 [ P.
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42 Top three commodities by percentage contribution in India’s export growth of $400bn 4.
l. Engineering goods 2. Petroleum products
3. Gems and Jewellery 4. Rice ¥
(A) 1,2and4only (B) I1,3and4only (C) 1,2and3only (D) 2,3and4 only
43 The National Apprenticeship Training Scheme is a programme equipping tcic1111icgliv\ qa_:aliﬂcd youth with
practical knowledge and skills required in their field of work. Which of the following statements gre
correct about the Scheme?
1. It is a 6 months programme. : :
2. The Apprentices are imparted training by the organizations at their place of work.
3. During the period of Apprenticeship, the Apprentices are not paid any .511}):'11:.1. 3
(A) 1 and 2 only (B) 2only (©) 3 only (D) 2 and 3 only
4  Which of the following statements are true ? - . G, _
4 GDPyp is the market valie of ali+final Goods and Services produced within the geographical
bounldary of a country in a year. .
If the GDP of a country is rising, the welfare may not rise as a conscquence. ;
34/"[‘119 ratio of nominal GDP to Real GDP is called QI)P Deflator. J\Q
4. The ratio of real GDP to nominal GDP is called GDP Deflator. i
‘ 1.2 and 3 only (B) 2,3 and 4 only (C) 1,3and4only (D) 1,2and4 only ~
45 Which of the following is incorrect regarding the Deaflympics, 2022“? | . o S
1. It was held in Caxias Do Sul, Brazil. 2. It was held from 15t April to 13"-“ April, 2022,
3 Indian athletes won a total of 16 medals. 4. Sumit Dahiya won a gold medal in wrestiing
(A). | only (B) 2 only (C) - 3 only (D) 3 and 4 only
By e e - e t)
46 Which of the Ek Bharat Shrestha Bharat Engagement Matrix between States and UTs is incorrect:
l.  Gujarat : Chhattisgarh
2. Maharashtra : Odisha
3. Goa : Karnataka : ; et
4. Chandigarh and Puducherry : Dadra and Nagar Haveli and Daman and Diu :
(A) 1 only (B) 2 only (C) 3 only (D) 4 only
47 Mateh the Ramsar Sites in List I with their locations in List II -
List 1 List II
A. Nawabganj Bird Sanctuary (i)  Tripura
2- Rudrasagar Lake (i) Haryana
= Tso Kar Lake Complex (iii) Kerala
E Sasthamkotta Lake (iv) Uttar Pradesh
(A). Bhlpdawas Wildlife Sanctuary (v) Ladakh G an
© ). B, C-(v), D(ii), Ex(ii) (B) A-(ii), B-(i), C-(iv), D-(v), E-(11)
A~(iii), B-(i), C-(v), D-(iv), E(ii) (D) A-(i), B-(v), C-(iii), D-(iv), E-(i1)
0R22-1__B l
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India prese S : e

50 per cent of its en O?S_I cnergy sapacty by 2030 .
! €rgy requirements from renewable energy by 2030

Reduct%on of total projected carbon emmissions by one billion tonnes i.'mm

Reduction of the carbon intensity of the economy by 45 per cent by 203( ,T. 10 203y,

_ Achieving the target of net zero emissions by 2090. G

Which of the following are correct statements 2.

(A) 1,2 and 3 only

w0 |J L

W to

(B) 2,3 and4only (C) 3,4and5only (D) |

> T.0-
Page - 15 [P.T
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Which of the following river(s) : e VERSION |
g .!'. 0“\\.- 1.5119_ fiver(s) is/are correctly matched with its/their tributariegy
e a: ung?':.ohadra. Ghataprabha, Malprabha 3
C‘ anga: Gomti, Kosi, Gandak

\‘iamlma: Ken, Betwa. Chambal

C1D. .ICauver}_': Kabini, Bhima, Hemavati
-;;mb(;the correct answer from the options given below:

(A) A, B, C only (B) A, B, D only (C) B, C, D only D) Acp ||
: Tty =D only

The correct order of the given rivers when arranged by length from longest to shorteg is;

(A)  Mahanadi, Narmada, Godavari, Krishna  (B) Godayaxj, Krishna, Mahanadi Tan:

(C) Narmada, Mahanadi, Godavari, Krishna (D) Godayari, Narmada, Krishna, M

pi
In the context of the Quit India Movement (1942), which

ahanadi
pair/s mentioned below is/are matched pronericon
a. Usha Mehta - Clandestine Radio broadcast periy?
b.

K T Bhashyam - Running independent local government
¢, Chitu Pandey - Labour unyest

d. Matangini Hazra - Attack on police station
Options:
(A) aandb (B)' bandc (C) candd (D)

Match the following details about Shah Jahan’s construction activities:
a. Moti Masjid

i.  Lahore
b. Jahangir’s Mausoleum i, TajMahal
c. Extensive use of calligraphy 1. P\-.;:aqock Throne
d. first commissionedgafier becoming emperor IR e prEstiiay R
iv, b-1, c-iii, d-ii a-iv, bei, c-ii, d-iii  (D)sasi; b-iv, c-ii, d-iii

(A) a-iv, b-i, c-iii, d-ii (B) Sz ki
Match the information given below with respective Sufi Saings:

a. DBahauddin Zakariya i. Gu!b_arga

b. Muinuddin Chishti i. Egam

: nde Nawz Gesu Garaz iii.  Ajmer :

('i. Elan?igi\: éh;mu iv. Founder, Suhrawa_lr_dly){a Qrder W
(ﬁ(\) ;1-?: l'b-iii c- d-ii: (B) a-i. b-iii, c-ii, d-1v (C) a-ii. b-iil, c-1, d-iv (D) a-ii, b-1ii, c-1V, G-

a and d

a-i, beiv, c-iii, d-ii (C)

- : £ ad settlement ¢ -brick structure in early Harappan period _
'-—- gives evidence of a.pi?'}md b;:;jzu:g]E;lilgaillézlm.[ Artefacts included uninscr}it}wd Escals. pottery with
of POtFeW types was similar t(.} rattlc.ﬁ and bull figurines, chert blades, weights, a bone point, 'M}d_"}l
graffiti, terracotta whaels, cars{\'cre t’c;:md during the excavatiegls‘ indicating the importance ol 'cf!l_l:r‘f:l;
buller. A SRS Apal boncs otches was found in an open dtea behind the structural cq-nmIc}; ,h'q
Jushandrdll stackgc} Sett?fslgp;gé similar to pithu, which G popular among children In India and
suggests the possibility tha é 2 - Z

S is stz (o ipti f which Harappan sit¢
i » Hars y times!" - this statement 15 a descrlpllon O
akistan, goes back to early Harappan :
in 1a? : i Aitska
(/ lnd}[g;mawali Haryana (B) Dhok}vmll‘. (;1;_1:1{31
' R akhigathi, Haryana
(€)  Alamgirpur, UP (D) Rakhigathi, Hary

Which of the following statements about King Harshavardhana are correct?
ke belonged to the Maukhari (t[}l"““*‘b'
- He was defeated by Pulakesin o A
CL Bat Maviira and Matanga Divakara were the famous writers at his court e
arsha himself wrote three plays - Ratnavali, Prlyaciarsl1|ka1 and Nd%?;;ama S
(A) 2, b and c (B) a, bandd (C) b, candcd ' ’
Arran

g . anci to the recent
g¢ the following temple constructions in chronologicalCotder (from most ancient 1C
times): L
?)- Rebuilding of Madurai Meenakshi temple by the Nayalks
: Vitthala Temple at Hampi i
¢ Group of temples at Pattadakal

oup L
{ f{i) E.‘rtagjsc!;vara Temple, Tanjavur

I. The range

(B) ¢, d, ba (€)" ¢, b,d, 4 (D) a,b,d.c
OR22. g,

p.T.0.
Page - 17 i
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56

57

58

59

60

_ P EfNar e
E}:otolsynthesm IS a process that |:-—_E_N_G_I_‘LS_H VERSION |
emical reactions Mt helps poreen vlanie 2o }
: take 7 green plants svnthesize
in PhOtOS}*nthesis ake place in Specified seqp o Yl O OO0, (A aes
(A) AbSOr‘ptiOn

: of light eneroviho -
(C)  Oxidation of caiontllc:g) .ot

Sht; a
uential order. Choose an event that d(::l

orophyll (B
to carbon dioxide o

€ of e
Vent
€s ng $ and

t take place
Reduction of carbon dioxide
A coupl ; (D) Splitting of water O Carbofyrge
- PI€ Suspects a mix up of their new born b
ISpute. The m s

aby in the hospital. Blood typing is so
blood group an has blood group A and the w ught to

oman has blood group B. Their biological o resolve the

- ld. can ha
1. Eithe <
e er A or B ii. Aor B or O or AB

- or B or AB iv. only AB
ChoosEa the correct option :
(A) i only (B) i only (C) iii only (D) v only

C(.)nsidef' the following statements:-

L. Nitrification is a process in which nitrates are converted to nitrogen.
1. Denitrification is a process in which nitrogen is converted into nitrates.
4. Nucleic acids (DNA and RNA) contain nitrogen.—

1v. During atmospheric lightening, nitrogen in the air gets converted into oxides of nitrogen.
X Nitrogen fixing bacteria are present in root legumes.

Choose the correct statement(s) :

(AF 1, ii, iii and v (B) i, iii and v (C) i, iv and v- (D) i, iiandiv

Consider the following statements about Lichens :
i. Lichens are algae ii.
iii. Lichens are fungi iv.
v. Lichens are saprotrophs

Choose the correct statements : _ . = Lo

(A) ‘iand vV (B) ii and iv (€) i, iii and v (D) ii,ivandv

Following are some processes involving changes of state :
A. Evaporation of water
B. Burning of candle
C. Dissolution of sugar in water s
D. Electrolysis of water to form hydrogen and oxygen
Select the correct option - : e
i .mical change only (B) A, B and C involve physical chang
% g’ ;C f;?d 2 ;;?:;ZIEZEICSE;?}IgCe = ) B involves both physical and chemical change
nly A is _

Lichens are autotrophs
Lichens are symbiotic lifeforms

T L]

Which of the following statements arf not c,oncl;::u{“

is i ai heating gypsuim.
Plaster of Paris is obtained on g BYPS o1 -
Sodium carbonate is an important constl{t(lil.u}t of bdktmg powder.
| i also act as an oxidising agent. . | .
?leaﬁhll:g pogﬁzll‘;‘?qﬁ: p:"cscnt in one formulae unit of chemical species of a sample with
en water m S are §
e oL i icity through the aqueous solution of sodium
Sodiun ide i assing electricity throug q
Sodium hydroxide is produced by p

(@A) "ikglgﬁ}; D (B)I A, C and E (C) BandD (D) Only E

Shili es in : _ ;
g'. 11{‘13:3r?gﬁ:;iis,?do?fnﬁ?fglgéoﬁci soap solution during the cleaning of clothes is called

emulsification.

wi fefelts

C.  The hydrophobic end of the soap molecules is in the inner side during micelle formation.
D. Micelles surrouhd the Ca2" or Mg2+ ions in hard water instead of oily droplets.
(A) A,Bandc ™™ (B) AandD (€) BandC (D) B, C and D
Mgl | page - 19 [ P.T.O:



ahig

()3 \ v .” o
. amin that ere——
: At ot | EN = ’ o=l
2 (A) thoﬂ‘d\i;; fctions both a5 4 Ko \GLISH VERsION | ( fr.m_m'.;} s
; F S a hormone and » r—— S
4 The tot; (B)  Folic acia T 2d a visual pisment:
al percent; I acid visual pigment?
{ f)\) ] 8 d:,_,_‘{: of Cal'b c (( ) I hi;“nin 3
t0 19 perce On present i & (D)  Ret:
65 During cent  (B) 20 to 75“] our human bodv i Clinal / Retino|
g expiration the air w: <2 percent (C S B i
(A) equal to 1 ‘th\. air will leave the | ) 1510 16 percent (D) Notie of
(C) hi 1€ atmospheric © lungs when th LM ne of the 4f
lgher than atmos pheric pressure € pressure inside the lungs Erove
66 Sel ospheric pressure (B)  lower than atmospheric ¢ nust become
elect the correc : (D) diaph {OSPRETIC pressure
. ect option fr phragm must cont
1. Meth rom the codes gi
Geadle :: ~odes given below about ereenhous
C”c]i. Nitrous oxide i R}imgen 10U m the followin
ode : v Water vapours i
( 1, Il a1 1
e 5 and iv only (B) i -
67  The P. ) Wandiii enly C) i and iii 2
Xi\i\n Piddnl.?l Awards) are, givediiIE ot oo I( ) i and iii only (DY andt i ot
Awardees of the vear 2022 wi , isciplines/field of activi : S
Name e year 2022 with their field of activities - giaatch the name of the Padma
a) Prabha Atre Field
b S ror 1) Trade a stry
) Radhc)_flsh) am Khemka (Posthumous) 2% o nd Industry
¢) Natarajan Chandrasckaran e o
d) Devendra Jhajharia | 4§ i‘fl"""‘ic and Eii"g"‘eﬂfi"g
o : : iterature ~ducati
e) SanjayaRajaram (Posthumous) sy Art feeand,Education
‘correct option from below :-
; (B) a5, b-l, c-2, d-3, e-4
a=a. (D) a2, b-3, c-4,.d-5, e-1
68  Match List Fwith List -
List I List IL
a) Dr. Dhondo Keshav Karve 1) Gandhi of Malkangiri
b) Laxman Nayak 2) Old Gandhi
¢) Matangini Hazra 3) ll_indi Litterateur and Revolutionary
d) Satchidananda Hiranand Vatsyayan ‘A gyeya’ 4) Pioneer of Women’s Empowerment
Choose the correct option from below:- ‘
(A) a-l,b-2,¢3, d-4 (B) a4.bl c2.d3 (C) a2,b3cd.d1 (D) a-3, b-4, ¢-1, d-2
69 Which of the following is /[ are true regarding Tatya Tope, a significant face of the Freedom Struggle of
185772 :
? s .2 Pandurang Rao.
1. His real name was Ramachandra Pandurang == =
5 In Bithur, he came in contact with Nana bahcl‘f and Moropant lambe.
30 He belonged to Yeola in Maharashira. s
4 He led a rebellion in Madhya Pradesh and Rajasthan.
Choose the correct option from ba.;low:.a Sy 1.3 and 4 only (DY 18,3 and 4
(A) 1,2 and3 only (B) 2.° and 4 only (&) Tk o i ’ e .
: 5 : : al leader in technical textiles, | ational | echnical 1eXUIES 7o hos
70  With a view to position g as a-gmbi‘our ear implementation period from FY 2020-2021 to FY 20=°
j1as beeh appEoVe. o creatloni w‘ﬂéavel imfeni of India
42 bl e ¢
2024 by the Ministry of Textiles, Y€ BV
. g 2 r _ : S cation
Consider the foilowu}g smmmcnts- divided into 14 broad categories depending upon their applicd
1. Technical Textiles products aLE d | countrics:
et nine ST0% in £ ranced © %
ared o f hnical textiles in India is at 5.10%, against 30 70/0 - Sa:ds and graduat®>
2. Penetration level OF E5 F engineermg/technologyf science standards and <
3. Promotion of innovation amongst young ytional
¥ ; jssion. ! ; y A tiep institullons
will be Pt U’F bty "hz]l\q'iesxtileq Mission will be ImP]e'“c'“cd through a 3-H¢!
4. The National Techni€ L]
mechanism. e above i~ 5 and 4 only
Choose the correct statements f;ogl at};:d 4 only (©) 1,3 and 4 only (D) 15220 _
(XY 1,2 and 3 only 2 [P.T.0:
OR22-1 Page - 21
o -Bl :

e

{y
Ly



Which of the followin
Yojana?
1.

1, 2 ang
? 3 onl
.M'atc y (B) 3 . Ports,
héhe name of the Dams and 4 only (). | 2 and
i Solumn -1 ms in Column - | . »«and 4only (DY | 23]
2. ardar Sarovar [l Column - I € river in Column - I and 4
3- Mettur T A. Mahanadi
4- Hirakud . B.  Chambal
(A)- Gandhi Sagar C. Kaverij
L S fEma
. 2 2-D, 3-A,.4-C Eg; 15C 2D, 3-A, 4-B
E‘D’ Z'Cs 3“‘A, 4-B

IHCH I'J" e

V! (] 1 al 1€ evel.

2. Expand cultivabl
- S € area under assured irrigati
i Iﬁﬁ[r)rgve farm water use efficiency R ceion
S roduce sustainable water conservati i
?‘zl)ect thf.correct answer using the code ge'l?::v?l‘act!ces
only 1,27and 3 «(B) onlyl; 2 '
e (B)  onlyil; 2 and 4 (C) only2, 3and4 (D)~1,2, 3 and4

Match the name:

the state given in Column -1 with the phrase given in Column - II
' Column - II y

1. Assam G ‘A. Abode of Clouds
2. Meghalaya B. Land of Red River and Blue Hills
3. Uttarakhand C. God's Own Country
4. ,Kerala D. Land of the Gods
(af” 1B, 2-A, 3D, 4-C (B) 1-C, 2D, 3-A, 4-B
(C) 1-B, 2D, 3-A, 4-C (D) 1D, 2-C, 3-B, 4-A

=k -
ents and select

the correct answer from the options given:
vement of planetary winds is called general circulation of the

‘atmosphere. . . A
Statement - II : The general circulation of the atmosphere sets in motion the ocean water circulation
Tpeich which influences the earth's climate.

(A) Statement - I is True, Statement - II is False

) atement - I 1 True

des explanation to Statement - 1
de explanation to Statement - |

ment of the [ndian plate”

portions.
dary In

Statement - I is False, St
 Both Statements are True an
B tatements are True and Statem

d Statement - II provi .
ent - I does not. provi

re correct about the move
nd the Australian continental
' he southern plate bgun

wards the island arc @

ementfstatemen_ts_ is‘fa
des peninsular India a
Himalayas forms t

76 Which of the following stat ok
1. The Indian plate inclu : he fort

2. The subduction zone along the

0 nyergence

i - tinent ¢O _ LY
continent- con ] :;h"rough Rakinyom

jong the
a Mountains of Myanmar t0

3. In the east, it extends

irthar Mountain of Pakistan.

A Java Trench. = Frotlows K
. The Western margin 2=~ : nd 4
Select the correct answer USINE S g belovi & oaly 1,3 nd 4 @ Cali e

(B) 1 25 an = | P'T,Oo

a Only 1, 2 and 3
R, B
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78

82

IS a surf:
o vap?ur State, ace phenomenop which mean
. oiling ig ' -
& 1S a bulk ph
€nomeno i
3 ]Ir)ltO vapour state. % Which means particles
4- CPosition is the ¢

. particles from the Surface o,
: ange ingo the

from the bulk (whole) of the |

hange of : quid chap
(Aj 1 € state of matter ca%] ha g?sﬁ:usi state dlregtly to solid without converting into gp 1 =
>3 and 4 ged by changing its temperature only. © liguid stage

M ; 12 and 3 £y 1,2 and 4 ®) 2.3 ;

atch List-I with List. - : ) 2.3 and 4

List - 1 AN

1. Camphor fro id sbd: ; List - 11

2. Difﬁgem pinl:-nesnc;hdf R, chigride I.  Chromatography

B e o W S Irom an extract of flower petals Il. Distillation

. > and water mixture HI. Centrifugation

4. Butter from cream L& ﬂlv. Sublimation
L&Y 1T, 2-1, 3-1V, 401 (B)  1-I1, 2-111, 3-1V, 4-I
(€)F L 1aiVE2-1,, 311 4]

(D)  1-1V, 2-1II, 3-1, 4-I1

Consider the legal issues involved in followings advisory opinion rendered by the Supreme Court of Inda
under Article 143(1) of the Constitution,

Match List - I with List-11 ¢
List-1 O

R List - IT g
A. Delhi Laws Act, 1951 L ’Legislative Privileges
B. Keshav Singh 1965 . _ II. Gujarat Gas
"C. Special Reference No. ﬁl;jof 2001 [Il. Delegated Legllflla}tgln i
D. Speéi&l nger_en'ce:;Noﬁ}lof ZOOZENE. é‘v; Gujarat Assembly Elec
correct answer from the options given below : :
¢ floose “’3 °§f§f‘&_w DI = B) A-lL B, C-II, DIV
(Ag ﬁ_?l’g ML, C-IV, D-TI (D) AL, B-L, C-III, DIV
(C ~4, = : =1i¥s: e

itori i i llege for election to office of
: : : ories are included in electoral colleg Jection to office o
Whl?c}ll 0tf tfl}fi.‘ng?:%\;l?l;ge [égfsr:itz‘teig:%g(]‘h Amendment) Act, 1992 for purposes of Articles 54 and
President o (
of the Constitution :of India ? o

= NCT%f e D. Lakshadweep

C. Puducherry .

1SWE options given below : C and D only
Choose thedc%ﬂeciyansw%)[:@% t:: d g JAlyE ) B A and Conly (D)
(A) A and B on

i 3 ittee 7
; : the Public Accounts Commi e

llowi e S/ere Comes ot c Sabha and not more than 7 members

Whi ng statements 1 S this

hich of the follow1 :

v m the ]-J
{ comprises of not more than 10 members 110
: : e sts as its Chairman. ;
from the Rajya‘sabha{ o~ ber Of the Opposltlo!] 3‘.«(? aS'nC{)l'ne & expcndﬁure of
Br As per convention a memt of accounts Showmgbt lle ;
2 i e statemen . ous bodies. :
3 exﬁgltlir:)‘;i t:utoriomOUfi and seml-am(mmﬁ one year at a time.
corpo 2 - i : K x ly
3 i mitiee 3 W o nd D onl}
D. The term of the comﬁ-om the options &1V A Band Donly (DY B,Ca [
Clioose the correct S0S¥in) g 4 hoc Judge of the Supreme COU
(A) A,Band arding the appo!

o g fant 10 hold
e, i o statement reg iudges is insufficien
Consider the following 3 scorrect? Supreme Court ]
Wohi?:lh of the following is/akd 0" ted if the quorum of the Sup

i pefore
&.—Ad hoc Judge is ©0'0¢ 8RFLL o court. med Hig

the state

: . of Justice of the conce Court.
. sessign. Ot MF nsult thf_gh‘ef e Supreme CO
or Contitiie : l;);' India(ESﬁ"e urrg%t'gﬁg%ouﬂ as Ad hoc Juageigf;tth is not mandatory: . ioys ol
B. Chief Justice o joe of e said “I8° 10 consent of the B o of the Supreme COU
appointing @ s all-hoc ) udge, Pt hile attending the sitting oy
—# For 3PP°i"men;‘ the Supreme COUTt 00 1+ Tudge. 1 oy A, Band PO
-8 4d hoc Judge © fogbs of 8 Supreme 1 © C and D only [ pT.0:
(4 powers an an; %B) A and B only
A, B and C O1

225
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0

() AL BV, €L DI

AR Candt
(D) " All of the above ¥

njit Singh came fro

b. ; ;
Jean-Francois Allard and Je 7 Kal‘Ol’aSmghia Mar Mok

M 1c o an Bapti
o oz;‘h:]lraj a Ranjit Singh. Pliste Ventura were the two NERBIEOnic soncr!
(Al)l 5 '€ above statement/ statement 15 in Seryige o
k. (B) Only b Y

@)~ B i
2 (C) Bothaandb (D)  Neither a oy ,
amo'ng the following were women Ad i i
‘é‘ i(a!’alkal Am:l"lgiyar W jziyar saints of South Indian Bhakti Movemeng?
E. salgnaantyar D. Akka Mahadevi
. Mangayarkkarasiyar '
C:oose the correct answer from the options given below:
(A) A, B,Donly (BR D,CEonly (C) A CEony @) B, C,Donly

Which statement(s) isfare correctiabout the Cotton Plantation in India in the 19t century?
A. American Civil War of 1861 impacted Cotton production in India
B. Cotton production boomed in Deccan countryside
C. By 1862, 90% of cotton import to Britain came from India
D. Expansion in-cotton production made ryots richer than the sahukars®
E. The Deccan Riot of 1875 was the reaction of sahukars against the rich ryots
Choose the correct answer from the options given below:
(A)~ A, B, COnly By A, C & D Only (C)& A, B, D Only (D) )8, E Only

Match List I: Inscription with List II: Kings
List-1 - | List - 11
A. Sanchi Copper P-latﬂ/r-il:)ti‘calr!/k Pu'ik‘eshtn = 1
B. Aihole Inscription 1. Ml:hndBltqia s
C. Allahabad Pillar [nscription [II. Chandragup

D. Barah Copper Plate Inscription [V. Samudragupta

options given below:
Choose the correct answer from the op e s

o AL B OO 2 (D) A-L, Bl C-II, DIV

= List - 11 4
List - I I Alauddin Khilji
A. Dah's.al'a S}’;::i _ Raja Todar Mal
B. Bigha-i-D2 1. Shahjahan
C. Biswa ' .~ Sikandar Lior:llb b
D. Guz/Gaz -~ tions given DEIOW: B
Choose the cofrect answer fom the €8 @) Al B-Iil,cc-;{v’[flv
(A;f"' A-III, B—N (@18 D-i (D) A-l, B-1I1, 7 []’.T»U
(Q - - 1 C"I) D-
) AL, BIL BT

2 g,



- Yhish of the gy,
S }'ﬁese S0ils qoy s Statem
The S op in
3 T'h:se"s‘)fls ICE i: mt about Laterite soils?
- The SO!lS are idely n}atte . ni tro er emtum 2nd low rainfa
Select the ~ OUS have mainy o 2 Bricks fo, | 6™ Phosphate and calcium,
1S COMect angyer yyos.9eVeloped j e . ! Mse construstion,
) 1 an 5 using the code belo\ ligher areac of the peninsular plat
Match List | Wwith I, ¢ onde (ST s \ -
: I : . 2 andis (D
I]_;lst I ist 1] : DI 5 ;
X DBasel COnvent
‘B Rt ion, 1989/199 List II

Conventlon 1998/2004 L. Persistent Organic Pollutan

Mm e Il Control of Transbounda i

- amaf onvention, 2 Hazardous Waste and their digy, "o
| 0132017 IIL. Facilitate informed decision mie
% by countries with regard 1o trade

St_gfkhﬁlm Conventmn 200112004 . 0 ;1’11 eljcafardOus Chemicals
Nz .oose ]]; C;;}I‘flect answer ﬁ'om the options given belbw: 5
A—III B'H g IV, DI (B) A-IL B-II, C-1V, D-I
;. qu (D) A-II, B-1, C-1V, D-III

: India, 2011, the languages of India are classified into 5 distinct families, nagey,
uropean, th DraWdlan the Austro-Asiatic, the Tibeto-Burman and the Semito-Hamific, | 5,
pea.k €s¢e languages are found in certain states. Hence match List I with Lig 0>
uage family) LIST II (States / UTs)
I. Andhra Pradesh, Tamil Nadu, Karnataka—

Assam, Manipur, Nagaland
lll Uttar Pradesh, Maharashtra. Bihar
IV. Jharkhand, Odisha, Mevhala%al

C-I; D

(D) A-1V, B-II

its leading producer.
producer gy

est Ben, given below: |
‘the ggtlon_s giv (B) A-2, B3, C-4, Dl /

sof bﬁpﬁlaﬁon size (201'1 Census} is (from highest fo lowest

M ashtra, West Bengal
t en I, Maharashtra, Bihar
Jest Bengal, Bihar

Bihar, West Bengal
which it is located.

.

[ PTG
[P.T.O.
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95  Consider .
nsider the iol]owing regarding :NGLISH VERSION
o J 1e —_—

] 5 ']‘hc N = 3
Natione g at
Dair}!§i~|[:0‘ndl [)an'}f-' Research Institultzné,l _[.)d.m Research Institute (NDRyy .
2. In 19365 in 1923 in Bangalore. started as Imperial Institute Of Animg
3. NDRI i |t Was renamed ag Imperial D Hyy
o S n.lted to its present site in Ka:. i
A) 1 andcgne(;:t Statements from the abox.-- b
S0 (B) 2 and 3 : i
E 3 only (
96 Consider the folloins : y (C) 1 and 3 only ([;;}/ (s
it B Owing regarding Wildlife Sanctuari _ gy
r . 1ndawas Wildlife Sanctuary — Jh ¥ cdual Rt g
) R e S = Jhajjar district o1\l
Nahar Wildlife Sanctuatyi~ & aar dticrics ic ;--\””WW

4 3. Chhilchhila Wildlife Sanctuary — Kurukshetra district

4. g o s
i Bir Shikargah Wildlife Sanctuary — Mahendragarh district
oose the correct statements from the above :-

(tﬁv)/ I,2and 3only (B) 1,2 and 4 only (€) 2,3and4only (D) 1,3anqy
97 Consider the following matches :-

b ;) FAME. India Scheme — 410 proﬁlote environment friendly vehicles
; ) PM Vikas Pahal Scheme — To promote development in the villages of Noni v,
4 f o hiha —  National initiative for holistic progress of schyq e

LAty

and teachers.
“4) Pradhan Mantri Saubhagya Yojm Right to electricity to the poor and deprived.
Which of the above are ¢orrect matches?
A and. 2.only (B) .l,2and 3 only (C) 2, 3and 4 only (D) 1,2,3and4

98 of the following statements are true about the India Post Payments Bank (IPPB)?
1. [IPPB was set up in 201 6.
2. IPPB got incorporated as a Public Limited Company with 100 percent GOI equity under Department
of Posts.
3 Post Office Savings Bank products primarily focus on encouraging digital payments and remittanc:
whereas IPPB primarily aim at savings.
4. Services launched by IPPB include Life and General Insurance, Digital Life Certificate, Domest
_Money Transfer.
g~ 1, 2 and 3only (B) 2,3and4 only (C) 1,2and4only (D) I, 3 and 4 only
99  Which of the following statements are incorrect? e
1. Central Board of Film Certification (CBFC) is a statutory body regulating the public exhibition
films.

5. The film ‘Raja Harishchandra’ produced by Dadasaheb Phalke was released after the passin

the Indian Cinematograph Act, 1920. ‘ _
3 CBFC launched its online portal ‘e-cinepramaan’ in 2015 to modernize a

I’;‘]I‘rle:s:;wsory Panels which assist the regional offices of CBEC in exan_uination §f f?lfnlscom
of members who have been nominated by the Central Govt. for a period of “304) ea!h!.
# ] and 2 only wx(B) 2and 3 only (C) 3 and 4 only (D) 1 and 4 only ;
ts are true about Indira Gandhi National Centre for the Arts {IQN
. a under the Ministry of Cu
the specialized field of he

and Sits

nd digitize film certifice

100 ‘Which of the fol'l(;)_wirll_'éﬂ'g_rtatemen :
_+ IGNCA is an autonomous trust set up by the Government of Indi
,."2;-4'.It has started post-graduate diploma courses to train manpower in

conservation and management. : : - |
3—As a part of its mandate, it has to prepare the National Register on Built Heritage
the National Register on Antiquities. . .
4. It is the nodal agency _fqr the National Mission for Manuscripts. e
e (AY—1, 2 and 3 only (B) 2,3 and 4 only (C) 1,3 and 4 only (D) 1,2an i

e B e

L |



